Algebra practice

Directions:

Name

Show all work on a separate piece of paper. Place your final answer on this sheet.
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3. Simplify the following completely with a common denominator. Your final answer will not contain any

negative exponents. .
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4. Solve algebraically for the exact solution(s). Solve for the indicated variable. Assume all other variables

are constants.
ﬁl) \+ 3b
xz_égk e +e =1 x= EE-—& 1+ax=4b

x—2
2a+h
x=_L§_ log(x) +log(x—21) =2 X = ﬁ+2i=1
X X

)
- “62/3 6y2+y=0 t= 0 OY‘;S 10te® +21%* =0
h (12
\\"ll —(__:1_1) =0 t=zL—(.i>3’=12(.8)'

(p-2)p+3)
T@ohwc«ly z(:=/3 In( +2) — In(t) = In(7) = AF9  roi-10=2
e Svlvh 64’)‘3 ]‘6
y=_X ~'_'t x’y-x*=22y+3) X= 3+ |3 (3—x)3 =-13
Ho- 3 :
x= ZZ-Z 3(ax+1)—2x =4(a - ax) x= Q or & 9xe™ —3x’e™ =0

= =bor2 (i1)x+3)=15 = €€ mny=1
10 %&
x= /' log(x)—log(x—1)=1 x= A(.83)" = B(b)"

-9
=2or "2 =22 k=9 0r =3 (r-a)fx+2)=7
. X
—5H409 3
x= 7 log(x+4)=2—-log(x+1) x= / 4xe* —3e" =0
-\t 2
== 2 4x+1)-5=0 / Sy =
%
-2 \ B
7= (: or-l: °ro=4z3+6zz_24z_36 y=IN0 zolu+|on;+;y+2=0
y

-7
t=_5°—r"|+ ' —t-6=14 t= ~3 2t—(Bt+4)=5(1+2)



A‘i:}—)—(.— 2
y=_X-2 42 =
X

t= L or -7 P16t =

p:"\ 34 %3p2+p—2

p-=T7

y+3

0

=0

y:

- C-AxX

Ax+By+C=0

2
t= ll o i In(t +2)—In(¢) = In(7)

R=

—

5. Determine if each statement is Correct or Incorrect. Circle the correct answer.
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